ChatGPT Evaluation on Sentence Level Relations:
A Focus on Temporal,Causal, and Discourse Relations
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MATRES
Strategies | Template input | ChatGPT | Gold | T/F

Sentence: "It had a multiplying effect.”, "We were pleased that
England and New Zealand knew about it, and we thought that’s
where it would stop.”
eventl; had
event2: pleased

Prompt Quest_ian: What is the temporal relation between eventl and AFTER EQUAL F
event2 in the sentence?
A. AFTER
B. BEFORE
C. EQUAL
D. VAGUE
Answer:
Determine the temporal order from "had"” to
"pleased"” in the following sentence: ""It had a

Prompt multiplying effect.”, "We were pleased that England and New

Engineering | Zealand knew about it, and we thought that’s where it would stop. ol o R

AL Only answer one word from AFTER, BEFCORE,
EQUAL, VAGUE. Answer:

. BzESEIES
2. T%@EChatGPTE"?EEEHTIEUJHJﬁF_ FIX

25 )5

3. EFNEY: FamEiEm NG el

X PR

In-Context
Learning

Determine the temporal order from "give™ to
"tried™ in the feollowing sentence: "It will
give the rest of the world the view that
Cuba is like any other nation, something

the US has, of course, tried to persuade

the world that it is not." Only answer

one word from AFTER, BEFORE, EQUAL, VAGUE.
Answer: AFTER

"invited™
"Fidel

Determine the temporal order from
to "come" in the following sentence:
Castro invited John Paul to come for a
reason.". Only answer one word from AFTER,
BEFORE, EQUAL, VAGUE. Answer: BEFORE

Determine the temporal order from "earned"
to "rose"™ in the following sentence: "In
the nine months, EDS earned 5315.8 million,

or $2.62 a share, up 13 % from 5280.7
million, or $2.30 a share." Only answer
one word from AFTER, E_FORE EQUAL, VAGUE.
Answer: EQUAL

Determine the temporal order from "created™
to "become™ in the following sentence: "Ms.
Atimadi says the war has created a nation of
widows. Women have become the sole support
of their families.™ Only answer one wWord
from AFTER, BEFORE, EQUAL, VAGUE. Answer:
VAGUE

Determine the temporal order from "had™ to
"pleased™ in the following sentence: ™"t had a
multiplying effect.”, "We were pleased that England and New

Zealand knew about it, and we thought that’s where it would stop.

“m_. Only answer one word from AFTER, BEFORE,
EQUAL, VAGUE. Answer:

BEFORE

EQUAL
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Method | TB-Dense | MATRES | TDDMan

Random 15.0 25.8 17.3

BERT-base 62.2 772 37.5

Fine-tuned SOTA 68.7 84.0 45.5

ChatGPTpomp 233 35.0 14.1

ChatGPTpe 27.0 47.9 16.8

ChatGPTicL 25.0 44.9 14.7

BN Prompt B Prompt Engineering B In-Context Learning
TB-Dense (Temporal) i MATRES (Temporal) s TDDMan (Temporal)
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COPA
Strategies | Template input | ChatGPT | Gold | T/F
The cause of The cashier opened the cash register is: 1. The cus-
Prompt tomer searched his wallet. 2. The customer handed her money. Cnly 2. 2 T
answer 1" or 2" only without any other words.
Given the event The cashier opened the cash register, which
choice is more likely to be the cause of this
event?
E“Z[i'ﬁ:g:ng 1. The customer searched his wallet. 2. 2 T
2 2. The customer handed her money.
Only answer "1’ or "2'" only without any other
words.
Given the ewvent The shirt shrunk, the cause
of this event is likely to be I put it in the
dryer.
Given the event It got dark cutside, the effect
of this event is likely to be The moon became
In-Context f%sib;e in the sky. . ) - R .
Learning Given r_!_-.-e event T_h_e cashier opened the cash regisier, whi ch 2 F: T
choice is more likely to be the cause of this
event?
1. The customer searched his wallet.
2. The customer handed her money
Only answer "1l' or "2' only without any other
words.

1. [EEM[A ChatGPTEMEIHE MK EAENAYE SRR FRiEIT
2, B SERSEHSEISI [BRXREMTA?
3. E™NFES: FhaEmANmLes
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Method | COPA | e-CARE | HeadlineCause

Random 50.0 50.0 20.0

Fine-tuned RoBERTa | 90.6 71 | i) 13.5

ChatGPTpompt 04.8 74.8 714

ChatGPTpge 95.2 79.6 T

ChatGPTicL 97.0 78.6 36.2

1.00 COPA (Causal) e-CARE (Causal) HeadlineCause (Causal)

0.98 0.84 0.8
b 0.82 0.7
% 094 e 0s
5 0.92 78 0.4
3 e 0.76 03
< s 0.74 02
0.86 0.72 0.1
: 0.70 0.0

No Relation Cause Effect

1. {FEAPEF_ L TN ZEIRILIREChatGPTHIMRE, ChatGPTIEHEEBERXRZR S EFRINHE
2. COPAFUBREMTEHMA N EUEELAIMRE;, COPA, e-CARE{LTHRIEAIROBERTa
3. FFNEFIRE T ChatGPTIRBIERKXRKRIEES], UHEEEEHX S ITRKERFZH
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Explicit Discourse Relation Tasks

Strategies |

Template input

| ChatGPT |

Gold

Top-level
Prompt

Argument 1:"When used as background in this way, the music
has an appropriate eeriness”

Argument 2:"Served up as a solo the music lacks the resonance
provided by a context within another medium”

Connective between Argument 1 and Argument

2 : "however”

Question:What is the discourse relation
between Argument 1 and Argument 272

A. Comparison

B. Contingency

C. Expansion

D. Temporal

Answer:

B, Contingency

A, Comparison

IR )

Second-level
Prompt

Argument 1:"When used as background in this way, the music
has an appropriate eeriness”
Argument Z:"Served up asa solo the music lacks the resonance
provided by a context within another medium"
-'C.onnect ive between Argument 1 and Argument
: "however”
.zues" ion:What is the discourse relation
between Argument 1 and Argument 2?
A. Concession
B. Contrast
C. Cause
. Condition
Alternative
Conjunction
Instantiation
List
Restatement
J. Asynchronous
K. Synchrony
Answer:

HE QMmO
.

B. Contrast

B. Contrast

Prompt
Engineering

Argument 1:"When used as background in this way, the music
has an appropriate eeriness”

Argument 2:"Served up as a solo the music lacks the resonance
provided by a context within another medium”

Connective between Argument 1 and Argument

2 : "however"”

Question:What is the discourse relation
between Argument 1 and Argument 27

A. Comparison.Concession, nonetheless
B. Comparison.Contrast, however
C. Contingency.Cause, s0

D. Contingency.Condition, if

E. Expansion.Alternative, instead
F. Expansion.Conjunction, also

G. Expansion.Instantiation,
H. Expansion.List, and

I. Expansion.Restatement,; specifically
J. Temporal.Asynchronous, before

K. Temporal.Synchrony, when

AnSwer:

for example

B.Comparison,

Contrast,
however

B. Comparison,
Contrast

. BxES®
2 ﬁ%PDTBﬁxﬂﬁﬁﬁ'fﬁﬂﬁﬁxﬁdpﬁ’ﬂiﬁﬁﬁ% |SLLM

Fl AR

3. E™NFES: FhaEmANmLes
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FREERZ (PDTB SyleBEX%ing. SEEEXRIRG. NEESLRRg. SEmEnE)

To Second Top Second
Method I Acc | FI . Acc vkt FI  Acc | FI  Acc
Random 25.12 25.70| 7.30 9.19 Random 2474 2547 | 648 8.78
Zhou et al. (2022a) | 93.59 94.78 - = Liu et al. (2020) 63.39 69.06 | 35.25 58.13
Varia et al. (2019) | 95.48 96.20 - % Jiang et al. (2022) 65.76 72.52 |41.74 61.16
Chan et al. (2023) | 95.64 96.73 = - Long and Webber (2022) | 69.60 72.18 | 49.66 61.69
ChatGPTprompt 3494 3938 3192 43.26 Chan et al. (2023) 70.84 75.65 | 49.03 64.58
ChatGPTpg 69.26 70.21 | 39.34 50.80 ChatGPTeromp 29.85 32.89 | 9.27 15.59
ChatGPTic 84.66 85.97 | 60.68 63.47 ChatGPTpe 33.78 3494 | 10.73 20.31
ChatGPTicL 36.11 44.18 | 16.20 24.54
o PDTB Explicit Discourse Relation (Discourse) PDTB Implicit Discourse Relation (Discourse)
. 0.35
0.30
0.25
0.20
0.15
0.10
0.05
000 ra?;~ gﬁz' z,{‘\' x‘} : OQ c"‘\ & -Qﬁ & & ‘g_ab
Q"Q{\ i .x:f}t? N ‘\@@G @‘? v‘é\o Q‘ﬁc {\&‘5’\ \éb\\ %@
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1. ChatGPTH LR HEEEENERIRIGEXE,; Contrast,Condition, InstantiationiRBIFRIN R EF
2. BRIKXREMAZChatGPTI—INEBHLKIEINTES (FIeERGPTABEMRERARAHSEN, AN AiERE

1B S1HIE)
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DiscoGeM
i Strategies | Template input | ChatGPT | Gold | T/F
Strategies | Template input | ChatGPT | Gold | T/F Argument 1:"However, the Member States are not obliged to
S replace fixed-term contracts with open-ended contracts assuming
2 i i akie o foow oane = e e >
i L L ,A““W e, '"‘l_l“ a few general comments on that there are other effective measures in place that would prevent
P p
El.lrupr:an_mlukmly, on the Splld:mly Fund and on some events that or sanction such abuse. The European Court of Justice confirmed
may provide lessons for the future.” this interpretation in its judgment of 4 July 2006 in Case C-212/04
b P! Judg y
Argument 2:"In 2002 I had the expenience of leading a country (Adeneler) pertaining to Greek legislation.”
that was struck by terrible floods, together with the Federal Republic Argument 2: ;1”1“ IE‘-'“’F’L‘“’? (-“’"1“ ‘_’EI ] _"““':‘i:' also Stl-"‘]‘:d.lh_ﬂl
of GE:I’I'I'I-KI!‘I)' and Austria. It was the scale of that disaster that Ill'l[l_‘l'p[':_lnlllllﬂ of the .n' L\ull.ﬂI nationa Lg!k ation does not fal I\\-llhll‘l
s the incentive Tor 1he croat] f the Solidarity Fund." its competence. [t is entirely for the Greek courts to provide an
EN’EWI : ks II'EE.LI'HI\-!? aEd Lth.litlﬂl'I- REne.0 "mt}. b interpretation of relevant Greek legislation and to determine whether
Question:What is the discourse relation this legislation complies with the requirements of the Directive
between Argument 1 and Argument 27 regarding the existence of effective measures that would prevent
(0) argl-as-denier and sanction abuse arising from the use of successive fixed-term
(1) argl-as-detail employment contracts.”
- 2 1 Qe :What is tl liscourse relatior
(2) argl-as-goal Question:What is the u course relation
(3) argZ-as-denier between Argument 1 and Argument 27
(3) ‘-2 as ','”t" i Prompt (0) argl-as-denier: despite the fact that . 7 ——
9 r - - e 1 2 - 1 2 e i i (8) conjunction: } conjunction;
Prﬂmpl i arg as—aeta (2) argl -as-goal (4) arg2-as-detail F Engineering (1) argument 1 as detail: in short n .nl]di[i-\ln in addition T
(5) arg2-as-goal = (2) argument 1 as goal: for [that purpose
(6) arg2-as-instance (3) argument 2 as denier: despite this
(7) arg2-as-subst (4) argument 2 as detail: in more detail
(8) conjunction (5) argument 2 as gcalt e-:'usuri|1q."_ha!:
(9) contrast (6) argument Z as instance: for instance
10 s - (7) argument 2 as substitution: rather
Bl SR eI (8) conjunction: in addition
(11) disjunction (9) contrast: by comparison
(12) precedence (10) differentcon: none
(13) reason (11) disjunction: or alternatively
(14) result (12) precedence: S'Jbsequer_r:ly
(15) siml?arir',r {13) reason: the reasons is/are that
__l,,_,_ s 3 (14) result: consequently
[1?] ..'.i-....e‘.*i.‘.-::tn (15) similarity: similarly
(17} synchronous (16) succession: previously
Answer: (17) synchronous: at that time
Answer:

. BzZIESHIES el
S IRIOIRE NI
. E™NES: FnaEmANmLes)
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DiscoGem All Subsets (Discourse) 3 DiscoGem Europarl Subset (Discourse)

All  |Europarl| Novel Wiki.
Acc Fl |Acc Fl1 |Acc Fl |Acc Fl

Random 33 32|55 32 |88 31|56 32
(Liu et al., 2020)|48.7 22.3|53.3 25.9|45.3 23.1|45.6 24.0
ChatGPTprompt  [10.8 3.5 |13.7 4299 37|94 3.1
ChatGPTre 20.8 4.2 121.6 5.0 |25.3 4.8 |17.7 3.7
ChatGPTicL-1 3.7 45|48 65|3.1 35|34 42
ChatGPTicL-3 33 28|3.1 24 (43 42|29 25
ChatGPTier 13 |20 21 |12 29 |31 17|19 20

Method

1. ChatGPTRUMEEREES T ISEHEEL (Liuetal.,, 2020)
2, PEIRSChatGPTRIMRE (AJBERHRTSIANTIRERING, NESEFREH TIINMUER)
3. ICLBEELHIEERIIEMN, HERRMBENIEE (BERHTRIUSEXRRITLURAEAARL—MEN)
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Dialogue DP-STAC Dialogue DP-STALC
Strategies | Template input |  ChatGPT | Gold Strategies | Template input | ChatGPT |  Gold
Here is a multi-party dialogue: Here is a multi-party dialogue:
Utterance 0: (Speaker A) sorry raef- s 3. (R ke Al oy ok
f 3 s g ’ Unerance 1: (Speaker A) a1 least i forgot to play it
Utterance 1: (Speaker A) ai least i forgot to play it Unierance 2 (Speaker A) befone that & was rolled
Utterance 2: (Speaker A) before that 6 was rolled ) Utsessines 0. gad Unerance 3: (Speaker B) well ot least people should realize vour
Utterance 3: (Speaker B) well at least people should realize your | unerance I: (2) advantage now
advantage now
e Unerance 1 and Q: Prediet all the posaible diszcourss
u < . ¥ 2 utterance 2: () relations betwean utterances and their
Q: Pu_adlct all the possible dlsccurstl-:' i Thom By T
relations between utterances and thelr types Unierance 2 and (e.g., *Utterance 0 and utternace 1t [af
line by line uterance 3: (%) Utterance 0 and utterance 3: (1}')
fe.g., "Utterance 0 and utternace 1: (0) Bikas i Candidate types are listed below:
Utterance 0 and utterance 3: (1)*) Silraisieds (OF Elaope BIOME 0 .
Candidate types are listed below: Utterance 0 and [0} Comment: Utterance y comments
5 " Utierance & anid lterance 1: (8) utterance x.
Pro Choose from: u;':j:'::‘_'ﬂ' {1} Clarification guestion: Utterance ¥
mpt (0) Comment " iz Usterance 1 and clarifies ntterance x. Vtemnee tand
Loy . 5 - " 2 et | B ]
(wlodesc.) | (1) Clarification gquestion Utterance § and | UMFance 2: (13) (2) Question-answer pair: Utterance x is iz
(2) Question-answer pair umerance 6 (0) ; a gquestion and utterance ¥y is the answer thewance © and
(3) Continuatien Unerance | and of utterance x. uticrarse - (11
i 1 ance 3: (0 2 AP « T n ;
(81 B GG e Uikerarcs & sndl utterance 3: (0) (3} Continuation: WUtterance y is the i L
e : geray ) witarance 7: (T cont invation of utterance x. utermmoe 3 i)
(5) Question and elaboration {4) Acknowledgement: Utterance y Kt #
- a1
(6) Result Utierance 7 and acknowledges utterance x, Witzzance 2 aml
(7) Elaboration utterance 8: (0) Promgt {5) Question and elaboration: Ucterance Somme 140 Linermsce | anid
(8) Explanation fwidesc.) | x i3 a gquestion and utterance y tries to 1 e L
2 o Utterance 8 and elaborate utterance x. ulierance 5: il 5
‘IQJ f_frrECtLD}‘l ullerance 9: (3) (6) Result:; Utterance y is tha effect E:::f,_-',‘:
(10) Contrast brought about by the situation described 'mef:ﬂ‘:
(11) Conditicnal Unierance 9 and in utterance x. e
{12) Background utterance 10c (14) {7} Elaboration: Utterance y elaborates Unemnee & and
(13) Narré{ticn utterance x. uiigrsnce 9 (i
: : : (8} Explanation: Utterance y is the Ly i
f‘j’ Alternation explanation of utterance x. eyl bpes
(15) parallel (9} Correction: Utterance y corrects
utterance x.

(10) Contrast: Utterance X and utterance
y share a predicate or property and a

1. EEIFEIRAHA (widesc) -PE HIERREEET
2. %8 (w/odesc) -prompt ey
3

background of utterance x.

|m| S| - — \96 2 A\ A\ 4+ = Z A _:\3~ B 'H'\* {13) Harration: [Rterance y is the
N | | ' Q %/l . $ l :F HU HU )B §| --ZEE\ S /j‘\\( IE ;:t EI narration of utterance x.
(14} Alternation: Utterance x and
utterance ¥y denote alternative situations.
[15) Parallel: Utterance y and utterance

% are parallel and present almost the same
meganing.
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STAC Molweni
Method Link Link&Rel |Link Link&Rel
Afantenos et al. (2015)]68.8  50.4 : - STAC |Molweni

Method Acc Fl1 |Acc Fl
Random 6.2 48|63 4.1
ChatGPTprompt |22.8 8.7 [16.5 6.9
ChatGPTere 259 8.6 (23.0 7.6
ChatGPTic. [24.1 13.9|14.7 8.1

Perret et al. (2016) 68.6 52.1 - -
Shi and Huang (2019) |73.2  55.7 78.1 54.8
ChatGPTzero w/ desc. 20.5 4.3 26.7 5.0
ChatGPTxzero w/o desc. 20.0 4.4 28.3 54
ChatGPchw (n=1) w/ desc. 2 l 0 7 4 l 257 60
ChatGPTftew (n=3) w/ desc. 20.7 T3 25.1 3.7
ChatGPTrfew (n=1) w/o desc. 41 st 6.2 2712 6.8
ChatGPTtew (n=3) w/o desc. 21.3 74 26.5 6.9

1. ChatGPTRURIIBBEKF R EELZ (ChatGPTXIXIERmEEAIEEAE)
2. IINERSMNOEI R LIRS ChatGPTIE R AT IERE, XSz
3. Mk "XREDE" THER, USEBSRERILEE
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CKEP
Strategies | Template input | ChaGPT | Gold | T/F
Prompt Answer whether the follo a s.r_atir.en_t is: )
Bngirmeriig p.a_h.s'_i...e.. Angwer with Yes a:_‘.m-.!x Per- Yes Yes T
sonX drinks coffee, as a result, PersonX feels, refreshed,
Answer whether the following statement is
plausible. Answer with only Yes or No:If
PersonY accept the interview, as a result,
PersonY or others will, Person¥ give PersonY
this opportunity.h: No
Answ whether the folleo g statement is
plau le. MAnswer with only Yes or No:If
PersonX lead the line, as a result, PersonY or
others fee FersonX support PersonX family.A:
No
Answer whether the following stateme
plausible. Answer with only Yes or
PersonX form FersonY conception, as a result,
PersonY or others want to, Person¥ want to
discuss with PersonZ.h: Yes
Answer whether the is
plausible. B&nswer w Yes or Mo:If
FPersonX give, PersonX is seen as, PersonX be
oo ve.A: Yes
Answer whether the fo is
plausible. Answer wi I
PersonX be nervous, as a resi
that be important to PeopleX.A:
Answer whether the following statement is
ible. Answer w y Yes or No:If
celebrate persony, because PersonX
wanted, PersonX feel oneself.A: No
the following statem is
with only Yes or Mo:If
1 to ride a ke, but E
ParsonX wear he
the following state
In-Conkext . P_e-}'.:ul with only Yes or it ) ) )
Learning take Pers '.Jr.uje, a result, PersonX Yes Yes T
PersonX feel mortified.A: No
whether the following state t is

1. PE: BIZTEHMNREZEERTE. REIZEEE: NRPersonXiENHE,

2. FFXEY: FomsiEmNaLsesl

Q5. WHEREXRRIRG. BEEHLNA)

In-Context
Leaming

Answer whether the following statement
plausible. Answer with only Yes or No:If
PersonX take PersonY time, as a result, Personk
feels, Person¥ feel mortified.RA: No

Anawer whether the following statement is
lausible. Answer with only Yes or No:If

onX want to ask a tought gquestion, as a
resulc, PersonX wants to, Personk want To throw
out Person¥ clothes.A: No
Answar whather the following s
plausible. Answer with only Y
PersonX achieve FersonX end, happens after,
PersonX start a small business.A: Yes
Answer whether the following statement i
plausible. MAnswer with only Yes or No:I
PersonX like the idea, happens befora, P
call a uber.A: Mo

Answer whether the fcllou ng
plausible. MAnswer h only
PersonX get imjur cause,
odd.A: No

Answer whether the following statement
plausible. Answer cnl“ Yes or No
person ® be bed illness,
hindered by, PFersonX find the perfect dog.&: Ho
Angwer whether the IO_lQnAuG statement is
plausible. Answer wi only Yes or Mo:If
PersonX play v in, includes the event or
action, ParsonX¥ make noise.f&: Yes
Angwer whether the following statement i
plausible. Answer with only Yes or Ho:I
PersonX could not complete somethi
PeopleX have find it.A: Mo

Angwer whether the following statement is
plausible. Answer wi only Yes £ Per-
sonX drinks coffee, as a result, PersonX feels, refreshed.

ersonk

I, PersonX& &%
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CKBP v2. DISCOSENSE

Method AUC F1 Acc
Fine-tuned SOTA | 73.70 46.70 65.87
ChatGPTpe 65.77 45.93 47.25
ChatGPTicL 66.20 4642 54.67

DiscoSense

Egns
0.4
r_a-[!%
<02

S f"ﬁﬁ ST g &pfrg ST 4@‘ Y AES TS
..ﬁ“" s Y eSS
dffa& & @w *f & & A ﬁﬁd}ﬂ?ﬁ :;*@* i f"‘* ';gﬁ"? qgf

. R RHEERRE IR K D ABANEIE X R
2 ChatGPTTECKBP v2/3k18 7 2:{UIRIF 19388, 1B7E AUCEE%,\&%IM” (ES
3. Discosense#ELE, ChatGPTIAERENBREE(AEIIMEE (95.40) )
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ChatGPT Evaluation on Sentence Level Relations:
A Focus on Temporal,Causal, and Discourse Relations

430

Olb.
ChatGPTIEIKITNFIHEIREREIR KRR, (BANMELIRESHAIRT BN,
BRI LABITERARKIRFIAZHIERXR, BRINKRNAEEHELE.
ChatGPTEMIEmEMTES PRI HIRG5HIMERE.

XIChatGPTRIFERAEZAHYE (AfEXR. ARXEZNEEXR)



Uncovering the Potential of ChatGPT for Discourse
Analysis in Dialogue: An Empirical Study

X MES KA T T prompt(F 5 promptF & s prompt).
Fl Bl promptEEIZ(FS M A—Z1%F 0lfg SLLM M REEIN ISR IR TR
R promptEEIZ(FESMALEMTR, IESLLMUASEIEVAEMIEFRINEER

ChatGPTEXIEIERDITTRYED (IBRADE| RERRIRD MAREDHT)



Type Prompts for Dialogue Topic Segmentation

The following is a dialogue. Give each utterance a binary label, where 1 indicates that the utterance starts a new topic.
please output the result of the sequence annotation as a python list.

0:04

l : {,’T‘E

Discriminative

n : lUn
Please identify several topic boundaries for the following dialogue and each topic consists of several consecutive
utterances. please output in the form of {“topic i":[], ... J’topic j:[]}, where the elements in the list are the index of
the consecutive utterances within the topic, and output even if there is only one topic.
Generative 6
Tz Ug

n: Uy

#lAlprompt
1B ChatGPT{EN

MERYIRERE, FERChatGPTR0/TRCEMEE, 1R ZIEETIE— M FHER

4Bk prompt
HIFChatGPTHISSEIA, LA EEREISEIRIAR, FE~ChatGPTEM(VHIH FZ5 [FItENANESIEIE

X35l: ERAERENERISHAR, MmABUEBSHRN0/1iRE AR R ERR IR
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Prompts for Dialogue Discourse Relation Recognition

Please select the rhetorical relation of the utterance pair U/; and U from the following candidate rhetorical relations
Relation 0: Elaboration.

Relation 1: Comment.

Relation 2: Clarification_question.

Relation 3: Acknowledgement.

Relation 4: Explanation.

Relation 5: Conditional.

Relation 6: Question-answer pairs.

Relation 7: Alternation.

Relation 8: Question-Elaboration.

Relation 9: Result.

Relation 10: Background.

Relation 11: Narration.

Relation 12: Correction.

Relation 13: Parallel.

Relation 14: Contrast.

Relation 15: Continuation.

Please output the rhetorical relations and do not output anything except the rhetorical relation.

Y o — N L
mEARIRD

¥U%u p rom pt Discriminative
BEZDRESRA—NSIEEFER, FHEChatGPTN

(R E R IEEIEBRRIER R

4Bk prompt

BRFZRBIRA—IERIES, FIRIESDRTIEIEES
ChatGPTARBEXRR

X5 ERREEIESChatGPTARREXR, M5!
RUIESChatGPTAVBIEM R EMIRE XS

There are sixteen rhetorical relation according to the segmented discourse representation theory listed as:
{

"Comment":"",

"Clarification_question™:"",

"Elaboration":"",

"Acknowledgement":"",

"Explanation™:"",
"Conditional":"",
"Question-answer pairs":"",
"Alternation™:"",
"Question-Elaboration":"",
"Result":"",
"Background™:"",
"Narration":"",

"Correction™:"",

"Parallel":"",

"Contrast":"",

"Continuation":""

}

Please generate the rhetorical relation of the following utterance pair according to the segmented discourse
representation theory.

Utterance pair:

U;

U,
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XEm DT

AlBlprompt

%iﬁChatGPTﬂgEﬁTf?é%E’J%’i”, #}'EB_TE%@/E\F\/I\TE
EBRETFEN-15208, HPESNaERRMEE, 18

/_.RC hatGPTLA#% )IL%EBEEIJH'/TEEJ H

4Bk prompt
BESIFChatGPTXHERUEEEEIn L B RTTAEIRR
7, FERChatGPTXIRIERYER S TiERE, HIEHE

LR RE PRI T

X5 4 EEIESChat GPTARXIIERIEEMEEFLE
13, MAIBIZXNIESChatGPTXENIATI REIINKEK
AT EERF R

Type

Prompts for Dialogue Discourse Parsing

Discriminative

There are sixteen rhetorical relations and each relation can connect any two utterances according to the Segmented
Discourse Rhetorical Theory. The relations are as follows:

{
"Comment’:”,
"CIariﬁcation_question":"",

"Elaboration":
'Auknowh,dgn,mum
"Explanation™:'
"Conditional":""
"Question-answer pairs":"",

"Alternation":""

"Question-Elaboration":"",

"Result":"",

'Bdckgmuud‘ M

"Narration":""

"Correction”:

"Parallel":"",

"Contrast":"",

"Continuation™:""

}

Giving you a dialogue Consisting N utterances, you need to annotate N-1 rhetorical relations and each of them connects
two different utterances. Please annotate the following dialogue and output as follows "[i, j, relationtype] \n [ i, j, realtiontype]"”,
where i, j are the index of utterances.

o

Generative

According to the Segmented Discourse Rhetorical Theory, the rhetorical structure of a dialogue can be represented by
a directed acyclic graph, where nodes are utterances and edges are the following 16 relations: {
"Comment’:”
"Clarification_question":"",
"Elaboration":""
e ALknoWiLdngLnI
" Explandlwn" "
"Conditional":
"Queqtion—answer pairs":"",
"Alternation":"",
"Question-Elaboration™:""
"Result":"",
"Background":""
"Narration":""
"Correction:
"Parallel":"",
"Contrast™:"",
"Continuation™:""
}
please annotate the rhetorical structure of the following dialogue and represent it in the form of [index1, index2, 'relation’],
where index1 and index2 are the index of two utterances, and the 'relation’ is one of the above relations to connect the
two utterances.

e
5
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Domain Chitchat Finance Chitchat Chitchat
Methods DialSeg_711 ZYS TIAGE CNTD
' Pr(]) F1(1) Pr({) Fi(1) Pr(]) F1(T) Pir(l) 1 (T)
TextTiling 40.44 60.80 45.86 48.50 47.27 45.57 51.36 46.84
unsupervised GreedySeg 50.95 40.10 44.12 50.20 52.63 49.47 53.81 53.36
’ ‘ TeT+CLS 40.49 61.00 43.01 50.20 40.49 61.00 43.01 50.20
UPCS 26.80 77.60 40.99 52.10 47.19 58.63 46.11 58.18
BERT - - - - - 66.60 - 80.80
supervised TS5 - - - - - 73.90 - 81.10
MGP - - - - - 76.20 - 84.70
ChatGPT DP 49681011 51951011 42551033 4006710068 50331ip25 53271p60 489310.84 59.051.p.35
GP 10.56 1915 89421008 56.1940.29 4960L0 04 42351237 61311187 27081100 77361035

1. ERELAIBIREARIE=AMERE, HAEChatGPTEIEE RYIEHEERO/1IRSEEAN

2. tEpkpromptAYChatGPT#EDialog 711, TIAGEFICNTD LAJLA R EBHAELWE AL, FEZYS EEaLUXZEY
B9MERE, ChatG PTXﬁ—ﬂxvﬁi;Eiﬁﬁﬁ{EW‘E’Jﬂﬁrp, (B =R AR TR SR B4 E s AT E R

3. ETIAGEFICNTDEIEEMF1ERLE, Bl o 3XESOTAREEZXMGPAI80%(61.31/76.20)F0
90%(77.36/84.70)F9ttRE, 1XZEBAChatPGTX B &A=t B A IR IRMRAS

ChatGPT Evaluation on Sentence Level Relations: A Focus on Temporal, Causal, and Discourse Relations



mEARIR

E— | STAC | Molweni
Micro-F1 = Macro-F1 = Micro-F1  Macro-F1
XLNet 63.92 46.28 65.52 25.90
Supervised BERT 64.80 46.22 65.16 31.07
RoBERTa 68.09 51.97 65.36 26.78
ChatGPT DP 28431109 17314045 16381016 7.47+0.02

GP 36.1240.06 19951065 24704072 9.11 1011

1. £ EETSHMEE, 1XFHChatGPTEEE S E X ALY EE(E A E A

2. ChatGPTESTACEURESE EAIMERED BIJ9ROBERTaE ZAY53%(36.12/68.09)F138%(19.95/51.97), EMolweni#iiz
£ FREES BIIBERTEZHY38%(24.70/65.16)F129%(9.11/31.07)

3. FEXRARIRE_ ERIFRINEANSE LGS E], FKEChatGPTXEERINEEXRIVIEELE TEF
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mEARIR

1. ChatGPTE—EBRHIRXRERIEE L, W
Acknowledgement, Continuation, Questionanswer pairZ,
S5EELEL, AUEEEERS RIS

2. ChatGPTR¥ERAITIEKRR. XAIgE5ChatGPTAITFEM
REZEIE, ARERBIE R EMNRZRNTFEXRET X

3. ChatGPT{mEFHEEAECClarification _questionk ZBUIHIEXT
IRBIARIEITXER, FKIHChatGPTIEIREIE R XRITZHE T IaIk

AU

4. ChatGPTHLARERERRANEIETSHSENRERE, A
KREREXEIEIEXIHXRER, ChatGPTRILARSEI AL IEXLL
tE S ASEXRRIERIEX]

STAC

B Ground Troth RaBERTa B Dbscriminative Prompt B Geaerative Prom

Molweni

~ - i : B
ok 4 o F F 2P g
& I o
"R S S .
F RS G
.‘\Cp sl 4
E‘v} o e
| o w
3 ¥ val
& oF

B CGround Troth BERT Diseriminstive Promp Generative Prompt
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XERmEDHT

Methods STAC Molweni
Link Link&Rel Link Link&Rel
rule-based 60.57 20.11 67.56 25.60
DSM 71.99 53.62 76.94 53.49
SSAM 73.48 57.31 81.63 58.54
Supervised SSP 73.00 57.40 83.70 59.40
DAMT 73.64 57.42 82.50 58.91
SDDP 74.40 59.60 83.50 59.90

DP 60.671013 21.824071 652210928 20.6910.01

ChatGPT GP 59911015 25251088 63.751004 23.851006

1. &ERtbFIBIETF, ChatGPTX G RESHIVIERE— MEARRIHEL
2. ChatGPT&ESTACFHIMolweni_tAILink&Religtrn 5IiAZI T SDDPRY42% (25.25 vs 59.60)F140% (23.85 vs 59.90)
BIMERE, ChatGPTHIMESOTARZ 2 [BIRUEIRTRRA, (3PARRARINGH=SE]
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XERmEDHT

STAC STAC
|'- a— Rule-haged - Rule-haged
L 8 SEDP e ol y— SS0P
=1 - ChatGET Q5 —— ChaiGPT
8.\ <
{ [ h | " E &l
e o
B w ﬁ
- -~
Il&. e S — .: e 8 - il ."r ——— - o - |
: 1 1 : i : . : 5 : p - . . :
Distance Distance
Molweni Molweni
q 1
} -=—  Rule-hased - Rule-based | |
#— :5DP &3 & S5DP
) i — ChaiGPT é * e ChatGPT
é P = o
>, \ e
g & .
5 -
\ = = |
i 5 f
- : . . ol = R -
i : 1 i 5
[Mstance Distance

ChatGPTHIJLNMELAEARRIER FHYMRELLE, ChatGPTIEIEE 1 ERIMRYF, FHHESRule-based75iEZBHEUANES,
REAChatGPTHBELAZME AR NIEANER SN, REER RN REEN
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151==F3J(ICL)

—+— TIAGE Vallina —a— STAC Vallina —=— STAC Vallina
—o— TIAGE CoT —o— STAC CoT 5 1 —o— STAC CoT
== NTD Vallina — X —w— Molweni Vallina (1. = Molweni Vallina
—o— CNTD CoT Ly =. —o— Molweni Col E —o— Molweni Col
e o (™
—— | ;_‘_-_______——\‘_;——.__:
R = = e <
i o — e
= =
I =
0 i ]
_.—-—-—'_'_'_'_._“ 5
. - o - - n -
[ 1 4 0 1 4 [0 1
Shot Number Shot Number Shot Number

DMEEZS(ICL)X=MESZHIE
1. Vallinafgix, BEZEERIIRMHLESChatGPT
2. BEHE(CoT), B ehlfIASHIRZIERMHLEChatGPT

7= -

Foie 2 VallinaJg KA R CoT HiAE T o EF 0 R IR B B EAVEEEERABEshot numberBIIEANMZ IS N,
(BEEFT A ES T 22080, TEHECoTHE

RIBRIERETE—INE TS, CoToJLAEEEIChatGPTEIF I IRAETIE fe R L4514
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Uncovering the Potential of ChatGPT for Discourse
Analysis in Dialogue: An Empirical Study

18!
ChatGPTHEERSESERIRL, BRNEEMTATIRNE.
BRI LU ERBREX RIS FRIRT T,
(ENTEEREMENREEDTES, RNER.
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